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KH—5 KH—30 [HEFHMUTH2 7%&1 668, 000 672, 000 676, 000 0. 0. L.
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N TR DIEAER & Fl—M 5 Td 2 EAEMOMIE—F ((EFFEH - XET)

. i . B AR 4 A A 5 4 A5 A RS
SR R [ i AT 1E %ﬁ%%% i%ﬁi/&ilﬂzﬁ)% %ﬁi/&r{gﬁ)% (25 4)
KH—38 RKHE—18 [WEHIAZTHSI34%ETH 500, 000 508, 000 517, 000 1.
KHE—11 | KH—2 ADBFEMTHG68 9% 10 541, 000 560, 000 573, 000
KHEH—-16 [KH—22 [|HB_TH120%3 454, 000 461, 000 470, 000
KHE—17 |KH—-26 |KHEFP=TH484%?2 434, 000 440, 000 449, 000
HEA—1 [(HAA—50 |FEZTH271%14 658, 000 670, 000 682, 000
HHA—11 |HHEA—-23 |[KEBZ-TH668%165 770, 000 787, 000 798, 000
HHA—17 |[HHEHA—2 |[¥x/JHTH33%15 748, 000 760, 000 772, 000
HA—19 [HHEAS—25 |%ELTHG616%19 626, 000 634, 000 642, 000
HHAE—2 2 [HHA—20 MEHMTH3 34%1 74 662, 000 672, 000 677, 000
HHEA—36 [HEA—2 2 [fHAIA—TH138%1 3 606, 000 614, 000 627, 000
HEHA—41 [HHEA—-19 |EZRMNTH4157%6 303, 000 307, 000 310, 000
HEA—45 [HHEA—13 [T - THES 2 1%F1 899, 000 904, 000 926, 000
-2 By — 2 TEKO B —TH26%6 1, 300, 000 1, 340, 000 1, 360, 000
BHR—5 PR —7 AHT—THO%1 3 723, 000 730, 000 748, 000
BH—6 B —6 KILET1 06 7% 4 14+ 1, 200, 000 1,210, 000 1, 230, 000
e — 1 hEr—14 [BE=TH153%4 490, 000 499, 000 508, 000
Hy— 7 Hiy— 3 Fg " TH42%ES5 600, 000 609, 000 627, 000
hEF -1 1 |1 FH_TH48FE27 698, 000 720, 000 743, 000
Bk — 7 Hit—20 [AFKIL—TH370%4 747, 000 763, 000 798, 000
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Huff N T DIEAEM & [B]— M TdH B EER DR —F (T - XER)

L% BlmewEs  ow o - m & s | meng | seems | ZBR | Z®E | X Bk
(H/m) (1) (F9/md) (RT-41) (% 1490 (4 [H])

Hif—12 |Hiff—21 [|KEAERNTHI 8&?2 622, 000 634, 000 647, 000 1. 2. 4.
Bili—14 |i—51 |mHFRIUTH1I054%111 515, 000 523, 000 536, 000 1. 2. 4.
Bili—18 |KHii—42 |E%xd_-TH23%&F11 630, 000 643, 000 657, 000 2. 2. 4.
Bilf—20 |HiF—33 |k#E=TH253%3 742, 000 760, 000 775, 000 2. 2. 4.
it—24 |[BIt—25 |[FEKEMUTHG 4% 4 643, 000 653, 000 671, 000 1. 2. 4.
Bif—25 [HiF—28 |FHE=ZTH172%18 485, 000 495, 000 502, 000 2. 1. 3.
BE—4 BE—T TN—TH12%14 676, 000 690, 000 720, 000 2. 4. 6.
HE—8 HBE-11 [ERE—-TH26%3 720, 000 742, 000 770, 000 3. 3. 6.
-2 —12 FHE-TH26%1 84t 600, 000 616, 000 631, 000 2. 2. 5.
—4 —238 P TH349%2 545, 000 557, 000 574, 000 2. 3. 5.
)l — 3 el — 2 W TH21%3 5% 527, 000 535, 000 551, 000 1. 3. 4.
Bkl — 4 HiE—22 |[@E¥E—-TH37%3 372, 000 379, 000 384, 000 L. 1. 3.
Bk — 8 Bkl — 4 BT —TH30%F 19 430, 000 438, 000 450, 000 1. 2. 4.
WiGE—10 [BiE—17 [KILEET10%EA4 575, 000 588, 000 606, 000 2. 3. 5.
BiGE—11 [BiE—11 [RE_-TH1990%22 440, 000 446, 000 461, 000 L. 3. 4.
RE— 5 HE—29 [HIF=TH534%5 418, 000 424, 000 432, 000 L. 1. 3.
RS — 7 RIS — 4 FRBEZTH1591%46 430, 000 437,000 444, 000 L. 1. 3.
ME—-17 [#WHE—-—12 |FAMN—TH2211%19 426, 000 434, 000 443, 000 L. 2. 4.
HE—-—20 [ME-35 [ -TH628%23 437,000 444, 000 451, 000 L. 1. 3.
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Huff N T DIEAEM & [B]— M TdH B EER DR —F (T - XER)

S04 4

&5 4E

S5 4

EuewmE BlmewE e & W i | B | b o AP R
HE—30 [ME—-60 [HAKER=TH806%20 467, 000 475, 000 485, 000 1. 2. 3.
HE—35 [#HE—-—10 [KRFERITANTHS8O08ES6 249, 000 251, 000 255, 000 0. 1. 2.
BY—12 [BY—13 [E=TH22%10 603, 000 625, 000 643, 000 3. 2. 6.
BNL—13 [@—30 |EEASTH10%E21 235, 000 237, 000 244, 000 0. 3. 3.
RN —14 [@V—45 |MoHE-TH19%2 396, 000 399, 000 410, 000 0. 2. 3.
BV —16 [B7r—35 [HAEKRMZTH19%®6 272, 000 276, 000 283, 000 L. 2. 4.
BNL—25 [B—34 |WEHH-THS32%84H 321, 000 330, 000 337, 000 2. 2. 5.
wHi—9 wii—27 [FF—TH61%1 412, 000 421, 000 425, 000 2. 1. 3.
Wii— 10 |[Effi—1 WEHT=TH104%5 380, 000 386, 000 392, 000 1. 1. 3.
BHifi—14 |8Bfi—19 |KxT=TH10%4S8 231, 000 233, 000 236, 000 0. 1. 2.
RN =13 [[LFN—40 |FEMELTHG6EF?2 4 508, 000 517, 000 526, 000 1. 1. 3.
A= 20 (EFN—3 7 |HBUMAIZTHA4327%4 295, 000 304, 000 305, 000 3. 0. 3.
AN —21 [[LFN—25 [#EETH1437%2 392, 000 403, 000 413, 000 2. 2. 5.
LE)—22 [[LA)II—=5 |HRAINEASTH2676%10 389, 000 400, 000 410, 000 2. 2. 5.
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AT OEREM & B —Ma THHEEMDOME—E (TEH - ZEF)

S N S
gwassmenns  w & - ow ® | swean | woews | oswes | RS0 | B8 ) EGE
NEF—23 |/\EF—93 |fEIT2 9 8% S8 — 123, 000 124, 000 — 0.8 -

NEF—46 |\EF—2 |TLIT—THS552%9 285, 000 287, 000 295, 000 0.7 2.8 3.
NEF—47|[NEF—1 |HUAHE - TH45%14 142, 000 143, 000 144, 000 0.7 0.7 1.
NEF—48|N\EF—21 | KFHEAETIUTH1827%5 169, 000 171, 000 173, 000 1.2 1.2 2.
NEF—49 [NEF—40 |HAE)IBT1E4LO 136, 000 137, 000 138, 000 0.7 0.7 1.
NEF—50 [\ET—68 |12 2%S5 75, 000 75, 000 76, 000 0.0 1.3 1.
NEF—51|NEF—76 |BIF26%F1 3 160, 000 162, 000 164, 000 1.3 1.2 2.
Sll—14 |NEJII—23 |#ETHTH167%2 84 312, 000 320, 000 322, 000 2.6 0.6 3.
SI—15 [SE)I—13 |5RETETH47%S5 244, 000 248, 000 252, 000 1.6 1.6 3.
W — 7  [REE— 1 [EHEFAIUTHELI 83 9%2 34+ 731, 000 739, 000 760, 000 1.1 2.8 4.
ZE-9 “J&E—-3 HFO=TH192%1 389, 000 395, 000 399, 000 1.5 1.0 2.
“E-12 |[Z#E-11 | THG639%F!1 4 425, 000 432, 000 437, 000 1.6 1.2 2.
HE—12 |[HHE—8 ARAET =T H 43 1 3 155, 000 157, 000 159, 000 1.3 1.3 2.
MHE—12 |FHh—10 [EHGT-TH45%7 317, 000 326, 000 330, 000 2.8 1.2 4.
MH—15 |WF—21 |[HFRET=TH25%&17 308, 000 317, 000 323, 000 2.9 1.9 4.
MH—18 |WF—25 |[MIT=TH31%76 278, 000 285, 000 290, 000 2.5 1.8 4.
W& — 9 ME—12 |EFMETUTH250%4 2 249, 000 252, 000 255, 000 1.2 1.2 2.
A — 1 gfMm—13 |#mre—TH16%23 422, 000 432, 000 445, 000 2.4 3.0 5.
A — 8 FA— 9 RRSFHRITNTH29%1 9 260, 000 265, 000 270, 000 1.9 1.9 3.
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Huff N T DIEAEM & B — M TdH B EER DR —F (T - L)

. i . B AR 4 A A 5 4 A5 A RS
SR R [ i AT 1E . Hh %ﬁ%%% i%ﬁi/&?@)*@ %ﬁi/&r{gﬁ)% (25 4)
HH—13 |[HTH—44 |#JIZTH16%16 157, 000 158, 000 160, 000 1.
HfH—21 [HTH—20 |AHEHE—-TH1880%F14 155, 000 156, 000 157, 000
MA—28 |MA—39 [|><LH—-TH23%26 203, 000 205, 000 208, 000
HTEH—30 [FTEH—70 [EJFRMTH3583%96 171, 000 172, 000 173, 000
WTH—40 |MTH—5 HET T HS5 4 9% 54 301, 000 307, 000 314, 000
HTH—41 |[BTH—13 |[MEIFEF7857857%k4 1 112, 000 113, 000 113, 000
WEF—-9  |hEIF—-8 [HET=TH2129%7 384, 000 390, 000 392, 000
/NE—3 IFE—19 [HEHET—-TH1460%8 244, 000 246, 000 250, 000
NE—=5 INE—4 HEheHF—TH807%9 320, 000 322, 000 328, 000
A2 — 3 A¥r—21 [MFEANTH20%15 190, 000 193, 000 197, 000
A% —16 |[(A%—25 |FHHNTH24%4 246, 000 248, 000 253, 000
AL —6  [HATL—1 [RET=TH4%15 265, 000 267, 000 273, 000
AL —7  [HEAIL—3 |BEETHETE3E4 1 168, 000 169, 000 172, 000
EoE—2 |EHF-5 [RKZL=TH133%5 308, 000 315, 000 319, 000
[N — 4 Ev—11 |HE=TH12%29 370, 000 380, 000 388, 000
fE—1 @ —3 KFRENTIL8 5 3% 1 84 176, 000 178, 000 180, 000
AT —1 JL— 6 AFdE—TH1147%&41 348, 000 357, 000 361, 000
HWARf—9 |HEKfi—6 |M#E—TH37&2 210, 000 212, 000 214, 000
THW— 3 THEWE— 1 WMIL—TH9 7 7% 3 14 280, 000 282, 000 286, 000
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Huff N T DIEAEM & B — M TdH B EER DR —F (T - L)

R4 A 54 SN 54 s .
o M SR E M B B fE - Hh %(‘%qt/&éﬂéﬁ)% i%ﬁi/&ilﬂzﬁ)% %ﬁt}@@% e /ﬂ;)‘
WA K — 3 |EAK—1 1 |[AIRELTH2 9% 2 194, 000 195, 000 198, 000 1.
WAHK—9 [HAREK—5 [FINIT—TH9 4% 19 272, 000 276, 000 279, 000 1.
HEA L — 8 [REAIL—1 [KM—TH158%&1 154, 000 156, 000 158, 000
ZEE—5 ZEE— 8 —/EMNTH13%13 267, 000 272, 000 276, 000
ZEE—14 |[ZE-18 |ZH838%]1 188, 000 191, 000 193, 000
fEdi—12 [fi—11 [ KRFEREETFNS1283%F4 280, 000 283, 000 289, 000
bELH—3 |bxHT—4 |[NEFHEH415F15 119, 000 120, 000 121, 000
PR —2  [WEERm—1 |[HERUTH1738%14 365, 000 368, 000 371, 000
PR —4 [WEHEE—20 |RETMTH2237%4 240, 000 242, 000 244, 000
Hiff— 1 O EnfE— 3 [ RFHIR T IH TR 2 3 6 53 4 104, 000 105, 000 106, 000
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AT DR & B — S THh 2 EEMDOMIE—E (B - XER)

S04 4

&5 4E

S5 4

5 y ; ! = B IS b i =

EEmEREEwE  ow o - owm F et | mrempg | Sk | < D6 | A B 2 B
(F/ ) (F/ 1) (/1) (GDE=s:i)) (1% 2=10) (GE))

FHRHES—1 |TMHEA5—19 |[RhOoRN=TH 2 &4 26, 800, 000 26, 800, 000 26, 800, 000 0. 0. 0.
THRES—17|TRE5—26 |[HEENE - TH1E47 2, 270, 000 2, 340, 000 2,410, 000 3. 3. 6.
FfeE5—18|FH5—29 |HATIMT H 4% 2 6, 250, 000 6, 310, 000 6, 500, 000 1. 3. 4,
FHRE5—25|FRH5—7 [fH/NIIT—TH 1% 145 5, 600, 000 5, 660, 000 5, 820, 000 1. 2. 3.
g5 —4 5 —16 |HABAIIUTH1L 5%3 5, 750, 000 5, 800, 000 5, 870, 000 0. 1. 2.
g5 -5 5 —5 4 [$RIEETHSE 24 7, 750, 000 7, 810, 000 7, 890, 000 0. 1. 1.
Fifts —9 P55 —14 [HiE—THSEI1 2,210, 000 2, 250, 000 2, 300, 000 1. 2. 4,
a5 —1 3 |5 —29 [4REE-TH2%1 94} 39, 300, 000 39, 500, 000 40, 100, 000 0. 1. 2.
5 —14 [hhs5—2 [$RFEASTHAHZL 34 28, 300, 000 28, 500, 000 28, 800, 000 0. 1. 1.
5 —20 |FR5—20 |[EABAEE _TH21%10 1, 810, 000 1, 860, 000 1, 890, 000 2. 1. 4,
Ww5—4 #5—-10 |BWw _TH1%9 4, 030, 000 4,110, 000 4, 250, 000 2. 3. 5.
W5—5 Hw5—1 HB—TH103%4 13, 200, 000 13, 300, 000 13, 700, 000 0. 3. 3.
Ww5—13 [|#5—44 |MHEBE=THS&E9I 3, 320, 000 3, 370, 000 3, 530, 000 1. 4. 6.
Ww5—18 |#s5—7 AW -TH1301%F5% 4, 870, 000 4, 940, 000 5, 040, 000 1. 2. 3.
w5—23 |#5—-—12 |ZXKM-TH201&14% 2, 440, 000 2, 500, 000 2, 560, 000 2. 2. 4,
FES5—10 |HE5— 15 |HFE=THbE 24 17, 700, 000 18, 000, 000 18, 400, 000 1. 2. 4,
HES5—11 |55 —6 BHEHELE_-TH140%1 34 2, 180, 000 2, 230, 000 2, 280, 000 2. 2. 4,
FES5—13|HES5—9 |EHE_THE6% 12, 800, 000 12, 800, 000 12, 900, 000 0. 0. 0.
HIES5— 15 |HES5—8 WAZTH1%S8 4,070, 000 4,170, 000 4, 270, 000 2. 2. 4,
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Huf N T DIRAEM & [B]— M TdH 2 EER O (MR —F (FgEHh - XER)

. ) AR 4 A A 5 4 A5 A RS
S5 YE M B 5| UE R %ﬁf@{ﬂzﬂﬁ i%ﬁim;ﬁ*% %ﬁf@@ﬁ% A
(F9/nt) (F4/nt) (F/nt)
BiE5—17 [¥1E5—40 [dkFE—-THEH353%61 1,070, 000 1, 090, 000 1, 120, 000
BiE5—19 [HE5—13 [BHRIT110%3 1, 520, 000 1, 550, 000 1, 580, 000 1.
BriEs—26 [HEs—22 [HE—TH31%2S8 1, 600, 000 1, 630, 000 1, 670, 000
X5 —2 [3TK5—5 |/hAEJ)II—TH2%FS5%5 2, 640, 000 2, 720, 000 2, 850, 000
XR5—7 [R5 —9 |TEAA=TH42%F15 1, 390, 000 1, 440, 000 1, 490, 000
BH5—-6 |[AH5—-34|KEATH77%&1S5 595, 000 610, 000 631, 000
BH5—-8 [HH5—7 |AEE-TH22%?2 2,710, 000 2, 780, 000 2, 870, 000
BFHRERS5—-17|HHE5—-5 [HAKE_-THG66%?2 1, 650, 000 1, 740, 000 1, 840, 000
BHRES5—-21 |[HES—-17 = -TH3%FS54 1,210, 000 1, 240, 000 1, 280, 000
BHES5—22 |HHE5—26 [HEF—-TH15%1 3 1, 300, 000 1, 330, 000 1, 380, 000
EHS—-13 [EHS—7 |BJIETHIEFL 75 700, 000 712, 000 731, 000
JTH5—8 [[IH5—10 |&F—THS8&EIL 44+ 880, 000 895, 000 925, 000
G)5—10 |fJ5—4 |EXB -TH56 1%F1 3, 720, 000 3, 780, 000 3,970, 000
f)5—12 |[#5—9 |[FE_TH660%2 1, 020, 000 1, 050, 000 1, 100, 000
HE5-3 |HE5—-2 [(FHE=TH1860%64t 4, 150, 000 4, 260, 000 4, 440, 000
HE5-5 |HES5—-4 [#HRF_TH1138%17 973, 000 995, 000 1, 020, 000
KH5—7 |[KH5—8 |ADNR=TH1052%10 709, 000 721, 000 730, 000
KH5—8 |[KH5—22 [#HEARIT-TH4%1 3 845, 000 864, 000 890, 000
KHE5—13|kH5—13 |EEHETAS 1%&9 867, 000 888, 000 910, 000
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Huf N T DIRAEM & [B]— M TdH 2 EER O (MR —F (FgEHh - XER)

. i . B AR 4 A A 5 4 A5 A RS
SR R [ i AT 1E . Hh % %%@% @ﬁﬂ% %$@§ (25 4)
KHE5—16 | KH5—7 |KHEAHLTHAEK4 607, 000 620, 000 638, 000
HHAS —9 |[HEA5—16 |ZfEF-TH2032%S8 778, 000 795, 000 805, 000 1.
HEHAS—10 AR5 —8 |ZHEx 1 " TH17%6 992, 000 1, 020, 000 1, 030, 000
BAS5—2 |5 —15|FEkEFE -TH12%13 4,140, 000 4, 260, 000 4, 400, 000
A5 —4 (a5 —12 |ELXK -TH21 3% 15,900, 000 16, 200, 000| 16, 700, 000
WA5—-5 [me5—-3 [BARTTHOIES 6, 500, 000 6, 590, 000 6, 810, 000
HEFS5 —4 |5 —4 [FRIUTH34%15 1,210, 000 1, 240, 000 1, 300, 000
HEF5 —9  |HhEF5 -5 [BHEASTH734%16 745, 000 760, 000 775, 000
HEFS5 —11 |HH5—12 |[HHATH21E7 — 3, 140, 000 3, 280, 000
Bl —2 |5 —8 |fkKHEHTHS31%E14+ 885, 000 900, 000 937, 000
BIF5—10 [FiE5—22 iIEHLU=TH937%&29 828, 000 844, 000 869, 000
Birs—11 [l —4 |FIERE=THT774%3 1,970, 000 2, 000, 000 2, 100, 000
BE5—8 |[BE5—18 |MEKETHI3872%F44 750, 000 773, 000 800, 000
BES5—12 [8E5—-5 |[MME_THI7%H13 3, 840, 000 3, 940, 000 4, 100, 000
BE5—-13[8&H5—9 [LRE-TH12%3 1, 380, 000 1, 420, 000 1, 470, 000
5—-2 5—-5 WER=THO#%34 1, 020, 000 1, 050, 000 1, 100, 000
M5 —1 [FIN5—4 |RAERE=THI1338%F1% 853, 000 881, 000 928, 000
w5 —8 [FIN5—3 |ETE-THS50%2 9% 557, 000 564, 000 575, 000
kG5 — 10 |[#iE5 — 14 [#EEIT26%K9 510, 000 520, 000 535, 000
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Huf N T DIRAEM & [B]— M TdH 2 EER O (MR —F (FgEHh - XER)

S N S
EeEwElmenss  F o« W %%Ej% @%ﬁaﬁ?@ ;;3%@1@% o AP R
WAES —1 3 |HfES—9 |WBE-TH6%FT 1, 080, 000 1, 090, 000 1, 120, 000 0. 2. 3.
WES—5 |#ES—7 PKIEB=THS321%&4% 686, 000 700, 000 714, 000 2. 2. 4.
HES5—6 |#ES—1 |BEIARNTH1IFELS 1, 470, 000 1,510, 000 1, 540, 000 2. 2. 4
BNV 5—3 [R5 —6 [ARAIETOE 3 54 285, 000 287, 000 294, 000 0. 2. 3.
RN 5—5 [ByM5—2 |THHE4 5% 24 1, 420, 000 1, 480, 000 1, 550, 000 4. 4. 9.
BN 5—15|@Y5—16 TOELTH1%E?2 455, 000 462, 000 466, 000 1. 0. 2.
w5 —1 [Effis—4 [HYAMNTH8O0E1 — 551, 000 565, 000 — 2. —

W5 —4 |[Effis—5 |[AA-TEH643%2 686, 000 705, 000 725, 000 2. 2. 5.
A5 —3 (L5 —3 |HEmEASTHL 5%2 84 1, 700, 000 1, 740, 000 1, 780, 000 2. 2. 4.
)5 —4 [{T7)115—5 |mE/IatETH1858%:2 687, 000 705, 000 724, 000 2. 2. 5.
TFN5—8 [{ A5 —6 [FR—"TH1085%4 351, 000 357, 000 362, 000 L. 1. 3.
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AT OERAEM & B — e THHEEMDOMIE—E (FEH - ZEF)

S04 4

&5 4E

S5 4

L% Blmew s o - Y T Ty (A
(/1) (F4/nt) (F/nt) 7
NEFE5—11|(\NEF5—2 |FHE12%KS5 550, 000 556, 000 572, 000
NEFS5E—12[\EF5—-10ART500%F1 2 171, 000 173, 000 176, 000 1.
M5 —2 IS5 —6 |8RETTH10 1% 1, 940, 000 1, 950, 000 1,970, 000
S5 —6 |5 —1 |BBET-TH9 1:%&64 5, 340, 000 5, 400, 000 5, 470, 000
HEREF 5 — 2 [REE 5 — 2 [EHEFAIT—TH207 1%4 2W 7, 120, 000 7, 250, 000 7, 480, 000
WEREF 5 — 3 [R5 — 4 [HHEFAITZTH197 5% 14+ 1,510, 000 1, 550, 000 1, 590, 000
WEREF 5 — 7 [REEF 5 — 3 [SHEFEiT—TH2728F9WN 3, 330, 000 3,410, 000 3, 500, 000
“E5—-3 |[ZE5—-1 |[FHEH#E=TH256%14 2,710, 000 2, 770, 000 2, 840, 000
MHs5—7 FH5—3 |EHT—TH23%9 845, 000 860, 000 876, 000
BE5—3 |HE5—1 |BRETETH228%S8 435, 000 440, 000 445, 000
M5 —3 |#fis—3 |[fEAMTH1I9%EL 1 1, 240, 000 1, 260, 000 1, 300, 000
BES5—7 |MTHS5—5 |fMESAE_-TH25%&1 1 286, 000 290, 000 294, 000
WTHS5—8 |MTHS5—9 [FEETHATHT7 8 2% 54+ 2, 700, 000 2, 760, 000 2, 790, 000
TS5 —10 [BTHS5 —1 3 | KT K2 6 5%& 1 2 166, 000 168, 000 169, 000
INMEFED — 2 PNEHE —2 |AIT=TH259 1% 1 44 525, 000 529, 000 541, 000
INES =1 NES -2 |[fENEHRIT—TH106%9 361, 000 364, 000 369, 000
AT S — 1 [HAIL5 -3 [ZRIT—TH6%S 341, 000 343, 000 348, 000
EoFE5—1 |EnFE5—1 | AT TH334%1 4 1, 500, 000 1, 550, 000 1, 600, 000
wAES—1 |#wAES5—3 |AET1 1 83K 14+ 316, 000 319, 000 320, 000
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Huff N T DIEAEM & B — M TdH B EERD(MIR—F (FIEHh - L)

S04 4

&5 4E

S5 4

EewmE BEEwES  m & - wm & i | B | b o AP R
HEWES —2 [fHWSs—1 |[ML—TE997%4 424, 000 426, 000 433, 000 0.5 1.6 2.1
2E5—2 |ZES5—-5 |BEF-TH11%9 — 720, 000 735, 000 — 2.1 -
fid s —2 |[fis —2 [KRFRAFNZF1030%F1 282, 000 285, 000 292, 000 1.1 2.5 3.5
PH5—1 [PAS5—1 |FrE—-TH14%4 179, 000 181, 000 183, 000 1.1 1.1 2.2
PERRS — 1 [WHAR 5 — 1 |HERTIUTH4033%40 820, 000 827, 000 845, 000 0.9 2.2 3.0
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AT DERAEM & B — S TH 2 EERMOMIE—E (T3 - XER)

S5 4

) ) B4 A5 A R = IS
oW M E i v o B SLHEHIRS | REMEHbARE | SEYEHMTRG Gi TUERD
(19/ ) (19/nt) (19/ ) A2 i
TH9—3 [rwmo—2 [HE-THOI®K42 495, 000 500, 000 505, 000 2.0
KHE9—3 |Kkmo—2 [HE_THTE1 732, 000 740, 000 748, 000 2.2
ITEJ9—1 HLFJIN9 —4 |BEEIT=TH6%25 370, 000 379, 000 385, 000 4.1
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AT DR & B — S TH ZEEMDOMIE—E (THEHM - ZEF)

SR 4 4 &5 4E S5 4R I S s = 75 =
A =N P = — B 5 S k‘ 2 g @J = Za éj] =S
NFEFFI9—2 |INEF9—2 |G)IET2 9 6 8& 94} 102, 000 109, 000 113, 000 6.9 3.7 10. 8
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